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The following extract does not use any semicolons. Find one place where
you could replace the existing punctuation with a semicolon. Why is the
semicolon the better choice here?

In the UK, government figures have shown that unemployment has risen and
fallen in line with GDP growth?. Many economists argue that greater
economic growth will create more jobs. This is because it is assumed that with
a larger economy, the population will have more disposable incomefjthey
are expected to spend more money. Therefore, businesses would expand to
cater to this greater demand, and consequently would need to employ a

greater number of staff.

A semicolon works better than a full stop here to show the close links between

the two independent clauses. Note, however, that the full stop is not incorrect.




